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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ECIGRCRIC]

POLITICAL SCIENCE

fEa aas - 3 g2 3ferBad 3% 100
Time allowed : 3 hours Maximum Marks : 100
HHI hi?l :

() G g7 HREREE
(ii) ¥ GE&IT] - 5 7% Je9% J97 1 31 H7 & | 57 F9] BT Jed% I 20 Vel & 37 Ta7
&7 TR /

59/1/3 1 [P.T.O.



(iii)

(iv)

v)

(vi)
(vii)
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J97 G 11 — 16 T J% 974 37H] BT & | 57 F91 &7 Fed% I 100 Jisg] G 37fereh
7&7 gl Tl |
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7&7 &7 =T |
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General Instructions :
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(i)
(it)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

2014 e THT FATAT § HRATT ST 911 (WTSTAT) <hl Fohetdl o o1, 3Tueh fo=am |
I T R &7 €9 8 ITGrR 7 7

In your opinion, which is the major factor responsible for the success of Bharatiya
Janata Party (BJP) in 2014 Lok Sabha Elections ?

1971 |, ‘Tt ger3n’ =1 I fopua fean sttt 2

In 1971, who gave the slogan ‘Garibi Hatao’ (remove poverty) and why ?
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3. S TTCISHT Shl STTEvTehdl o U1 § hig Teh IUIH doh SITT | 1

Give any one suitable argument to support the need of popular movements.

4. Frefafea 8 & @1 wua T8 fova e ST EH IR A TR E ? 1
A, FHod T IATHHT Hleh hesll i o T, Ik 1 Teh ITth &I H IHT |
B. wifead Tu § ‘HuTSETg <l HESR IS |
C. 3 Jg o SR oreelt ot 3 ST WY TP T FcT SRANT Shieh ol bl b HLa
footer |
D. ifaya g9 o1 faeed |

Which one of the following statements is true about the beginning of the ‘new world
order’ ?

A. Emerging of Iraq as a power after it invaded and occupied Kuwait.
B.  Weakening of socialism in the U.S.S.R.

C.  The decision of the UN to get Kuwait liberated by force after years of deadlock
during the Cold War.

D. Disintegration of the Soviet Union.

5. 3fid Ig o A BI TSAT H1 fohelt T TRTIRE o A1 98 T 1 g Teh HRYT feafan | 1

State any one reason for the smaller states to remain tied to any one super power

during the Cold War period.

6.  Te-Tuetar <t fifd b1 UTer S aTel fohegl IR FwTIeh ¢uli o A1 fTfg | 4xY%h=2

Name any four founder countries that followed the policy of Non-alignment.

7. o1 ! TS o YA T IS dTel TRl Teh TWTE ST HouTeh hIfVT | 2

Evaluate an impact of deforestation on the earth.

8. WA H ITelTehtur shT IfqY 1 BldT & ? 2

Why is globalisation resisted in India ?

9. e fdegar shi ifa =, foha g1 aiehi @ W i wmaTfaa fokam ? 2x1=2

In which two ways did the policy of Non-alignment benefit India ?
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10.

11.

12.

13.

14.

15.

T <A’ o AT QU T 13T 61 F B W U Tw verifes gt @ wet e shifr
4x%=2

T -A Tl -B

a. . TSI i YA e
b. T Y@ @S ii. §®RgHR Al
c. OTEE TG iii. A Tl

d. Tk, TMUTe iv. @ e

Match correctly the leaders given in List ‘A’ with the political parties given in
List ‘B’ :

List— A List— B
a.  C.Rajagopalachari 1. Bharatiya Jana Sangh
b.  Shyama Prasad Mukherjee ii.  The Communist Party
c.  Acharya Narender Dev iii. Swatantra Party
d. A Gopalan iv.  Socialist Party
AT 1 Foregd &9 F1 R 7 38 (TTeh) & Tohedl <) Sewall bt s Hhifv | 1+3=4

What is the full form of SAARC ? Explain any two objectives of SAARC.

T oh1 TCHTY] AT T FeATeh SHIT | 4

Evaluate the nuclear policy of India.

Wad YA | Ygal 379 g9 fohg oW | g3 o1 7 YoM i 379 gl § i 91l 6
T % I3 i HRYT fAfa | 1+3=4

In which year were the first general elections held in India after independence ? State
any three reasons for the dominance of Congress Party during the first three general
elections.

afcra e 1 fopgl QI afarfer 6t smen hifw | 2x2=4

Explain any two activities of the Dalit Panthers.

Ife T TP ST g AR 13 T8 gIal, 1 3 qruTiea afomy =1 g 7 el
<1 foigaTi <hl =T hifvT | 2x2=4

If there had not been any international organization like the United Nations, what
would have been the possible consequences ? Explain any two points.
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16. 1980 | 1990 < g1 H Tl IS & WA fehegl TR I3 1 Ui I | 4x1=4

Describe any four developments related to Punjab during the decade 1980 to 1990.

17. f=fafgd st s e 9 ufew 3t = feu 7o y9ai & 3o fafa 1+2+2=5

ToTd HHATET o TEY § T -ad THT T GiHfd 3 3otd STl 6t Ty ggdrd
ST T foRaT | SE 3T TaT | ISt I7d o e § 79 T Sl ookt TR T galTdl
T o ToTT gdTet o1 I8 T8 TohaT T o7 | TEhR 34 HFT o Rae® off | U6 § wid
% T 9 HdSl-eh ITH % HEAN, TS 1974 T FaTel W =] T | 179 HAATT
BSATA H HSIGU o AN I SGTa el | 36 g1t & WelgU o TR S8 7Eet dl 36
&, 98 "ara off 337 Tk 3Trawesh qansti ¥ S8 §U HHAR I WA i ook gl
Tehdl & A1 4 |

(a) 1974 T 5% {79 TSATS I Aqcd i et a1 1 419 fAfa |
(b) TTHN BSdTeAl HHATIAT shl FdTed o foeg 1 off ? IS T RO T8 FHIfFT |

(c) o1 TR HATA € g ASGU IR FHHATAN I FSATA H hl STAR B
T 7 319 I 6 U1 H IUYH doh ST |

Read the following passage carefully and answer the questions that follow :

A call for nationwide strike was given by all employees of the Railways for pressing
their demands related to bonus and service conditions. The government was opposed
to these demands. So, the employees of India’s largest public sector undertaking went
on a strike in May 1974. The strike by the Railway employees added to the
atmosphere of labour unrest. It also raised the issues like rights of the workers and

whether employees of essential services should adopt measures like strikes.
(a) Name the leader who led the Railway strike in 1974.

(b) Why was the Government of India opposed to the Railway strike ? Explain any

two reasons.

(c) Should the workers and employees of essential services be allowed to go on

strike ? Support your answer with a suitable argument.
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18. T=fafgd staawer 1 s 9 ufew 37t = feu e y9ai = 3w fafaw 1+2+2=5

“fopelt it TETS H % TG BId & | IIh! HATHIATY STHEL 3T 3TN 3TN Th &L
fomdia &t € | T8 71 37 ST cohet § Y five gehd € 7 e FaTe @ e -
ATt Toif |7 o 3R wfeeret Tifa 6 & ged wamer sfex <6t & | e,
Torfiferen fafafyr o1 SEwd SR 1 HET BT SR 3T W A HEAT BT 2 S Y
BT 4t S1TRT | G AT 3 ST T shl T ohT et foram |

(a) W T & U@ fopf & wugl <ht gt et Srrehiead terT 3tet Wy Uk
T famdia 2 |

(b) ‘A TaHIfd foraTel sl Gorg & foTu 3 ey ygM ol 8 | 30 S I
&g = o TTY 18 T 3greew ST |

(c) IGHM YRd G99 ThR o Tl gl it ot vg=am SHifse St sHfga A 8 |

Read the passage given below and answer the questions that follow :

There are different groups with different and conflicting aspirations. How do we
resolve these differences ? Democratic politics is an answer to this question. While
competition and power are the two most visible things about politics, the purpose of
political activity is and should be deciding and pursuing public interest. This is the

route our leaders decided to take.

(a) Identify any two groups from Indian society which have different aspirations
but opposite to each other.

(b) Give any one example to prove that democratic politics provides alternatives to
resolve the conflicts.

(¢) Identify any two decisions taken by the present Union Government of India
which are in public interest.
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19. f=fafgd st i e 9 ufew 3t = feu 7o y9ai & 3o fafa 1+2+2=5

2t weTTTR farva 3 fafi feel T T T 6t g W % forw qeft g off | g
2 Tl % g wgd T8 ¥9 @ ¢ S oft | W T R gooh & foTT U Tt 7 o1 o aw
O GRET o ToTe fopell Ueh weTmIfeh o |1y 81 T8 3R ol HETIith qeil 38e T o o1l
o 9SG &9 G |

(a) 379 TS & 1 Torqd A <hl 3o ST TETIRRRaT ot 8= i |
(b) I HETTTRAT o ST Tovd 3T TIE SN RIT g1 2
(c) T TISHLAT o |1, WA o IMMHA 7 B o G TE&I BRI bl TIT HIFT |

Read the passage given below carefully and answer the questions that follow :

The two super-powers were keen on expanding their spheres of influence in different
parts of the world. In a world sharply divided between the two alliance systems, a
state was supposed to remain tied to its protective super-power to limit the influence

of the other super-power and its allies.
(a) Identify the two super powers that were keen to expand their area of influence.
(b)  Why was there a sharp division of the world between the two super-powers ?

(c) Explain the two main reasons for India’s not joining any of the two alliance

systems.

20.

S TEU MU SHIE 1 SHYES HEH hHife g ffeRad sl f IR : 1+2+2=5
() S FEIfra A TmRa s

(i) ‘T9’ 3 ‘A9’ o o= 39 < hi 1k i T hIE g A= WF Hif |

(i) <PTEA H ST TTC GG 3 56 <1 1 STATEAT i HH ATY Tg=R—T ?
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THEN NOW

HU'S
CAPITALIST

RED g RED
BOOK/ W "POWER

Study the Cartoon given above carefully and answer the following questions :

(i) Both the Cartoons are related to which country ?

(i1)) Bring out any two differences in the economic policy of this country between

‘then’ and ‘now’.

(ii1)) How has the change shown in the Cartoon benefitted the economy of this country ?

Ae: Ffiaa ye hact giEaTia ahemiia o fofe Te 9@ 20 3 TH W E

20.1 GIH UsF 7oepT < 38 Ui 1 99 ferfge i veat @l 3¢ | foo
ITH hi o |

202 ‘TEE’ R gRATYG HIfST |

203 W g1 & W forRau fmes foeg smfiert 3 sroft S= wifw w61 v foman
IR 2
Note : The following questions are for the visually impaired candidates only in lieu
of Question No. 20

20.1 Name the President of the United States who had won the First Gulf
War.

20.2  Define Hegemony.

20.3 Name any two countries against which the U.S. used its military power

and why ?




21. 68° 72° 76° 80° 84° 88° 92° 95° 100°
T L) L L] T L) i ) T
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feu e v o Y@r-wEfE 8 e = @ (A), B), (©), (D) 3 (E) g fafa foam mn

2 | M < T8 AR % MY W, $ U= 3T 319 ITH-YfEqent | 3 Hal A1,

TR hT TS STehI <hl SHH ERET qT Hraf-ard 3787 hl &1 T8 dliolehl & &I H feAfgu: 5x 1=5

TR St TS THHRT <ht ohH T qrafre 3ER TS &1 A
(i)
(i)
(iif)
(iv)
v)

(i) I8 TST YRA I TgeAT TS AT &l 1957 H Uged! T-hTUH! TLehR &1 |

(i) I8 T ST HEHRI G TNE 1 7 T 2 |

(iii) 3T WA o 39 TST 1 1947 H TIaTe o T8, WA 3T UTThEdT b s SiieT T o7 |

(iv) 38 TSI I 31TSE 370 °h ITaTa [0S gofl Je Fehat 7w o |

(v) T&TST 1987 B TIiSd g3 o7 |
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21.
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In the given political outline map of India, five states have been marked as @, ,

@, @ and @ Identify these states with the help of information given below and

write their correct names in your answer book along with the serial number of the
information used and the related alphabet as per the following table.

Serial No. of the Related Alphabet
information used

Name of the
State

(1)

(i1)
(iii)
(iv)

(v)

59/1/3

(1)  This state was the first in India where a Non-Congress government was formed

in 1957.

(i) This state is the birth place of Amul Dairy Co-operative.
(ii1)) This Northern State was divided between India and Pakistan at the time of

partition in 1947.

(iv) This State was given a special status under Article 370.

(v) This State was formed in 1987.
10



Note

22.

23.

59/1/3

ffafad s et gfeafia e < foe, e S 21 % A W E
141+2+1=5
21.1 oI 91 ST IR YT § 37T hish ST TRIT T 7

212 WEdF YR o {8 T |, gl TR-hE] TR &1 off ?

213 fafwara s a3 T A T 9, 5= 1947 4 fovsH & w79 W 3K
qrferedm™ ok s farvren fomam o o s s ?

21.4 TodEdl H Ugd, Tohd Totieen et 3 fguy w1 fagra feaman 2

: The following questions are for the visually impaired candidates only in lieu
of Question No. 21 :
21.1  Which State was carved out of Uttar Pradesh ?
21.2  Which State of free India had the first Non-Congress government ?
21.3  Which two states of British India were bifurcated between India and
Pakistan at the time of partition in 1947 and why ?
21.4  Which political party gave the ‘Two Nation Theory’ before
independence ?
R 3R TR-TRe e RET o o= g <A 37t Tag SHifT | 3x2=6

CDE]
G TR T Y shi HETEHT H WA T AT ST T ST e, T 3179 g TP
1 Fra aftye H wRa <ht Tl Tewrar o foft A @ fiF ge @b ¢ ? aWETsT |
Explain any three differences between traditional and non-traditional security.

OR

If you are given a chance to represent India in the U.N. General Assembly, which
three main arguments would you give to support India’s candidature for the
permanent membership of the U.N. Security Council ? Explain.

1975 T UER ATITdehT ST i o fohrg] T HRUT b fIgeiwor HIfST | 3A19ehs formm

S0 U I W HRT AR & 7 4%x1% =6
YT

1969 T I Il & faareH = foTu Iaterht fh=gl diF il o1 favemu it | 3x2=6

Analyse any four reasons for the declaration of National Emergency in 1975. In your
opinion, which reasons are justified ?

OR
Analyse any three factors responsible for the split of the Congress Party in 1969.
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24. 39k o= #, e fRue STidieq 319 fore €T deh STITERTs &1 T 2 7 3T SW h
TH | Teh TEd HIT | 6
e
WIS U I 39T gesd (8 wifora T i forees | s=m 51 wehar o | 3x2=6

In your opinion, how far has Non-Aligned Movement (NAM) become irrelevant
today ? Give reasons to support your answer.

OR
Suggest any three measures which could have saved the Soviet Union from
disintegration.
25. 1992 % ‘et G’ o feheal oI ROTHI 31 90 shITT | 3x2=6
YT
J1eRTuT 3k ST TToTHT o1 9 SIS | 6
Describe any three outcomes of the ‘Earth Summit’ of 1992.
OR

Describe economic consequences of globalization.

26. < I TEHR GRI 33T TN, feohedl <fiF T heHi ht e hifve, fa =i+t sreferawen
T I §3 | 3x2=6

Fran
ITfehET H ST o §1G |, F&l W &1 3 AR shi YHehT i TTE HIT | 3+3=6

Explain any three major steps taken by the Chinese government which led to the rise
of the Chinese economy.

OR

Explain the role of military and democracy in Pakistan since its independence.

27.  forami = fea # wet fopam i g 3om 8 fordi am wim w1 av il | 4 x 1% =6
3l
s o6 STATTEETE! 3TeIaH 3T 3ok TROmET o1 9uiq hifsfu | 6

Describe any four demands raised by the Bharatiya Kissan Union (B.K.U.) in the
interest of the farmers.

OR

Describe the secessionist movement of Mizoram and its outcomes.
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